888 @y 1222 G 321 @ 9 )as0 Gr 4 p. 13
@ +222 - 888 x 8 e
Find the perimeter: — 5 =11
(Answer: impossible, no ) E, '
triangle can look like this.) \
{
DAY 59
(1) s8.46 87.7 (G) 357 @ 1) 630
2.44 -37.8 x 9
4.75 )
+3.23 @ How many minutes are there in one day?
@) x 6 = 48
DAY 60
@ 33 @ 63 G 712 4 468
26 -27 x 3
14
+17 @ Write 62 as a Roman Numeral. x 8 24
DAY 61
4305 1842 38 4) 6 )624
@ 3234 - 176 @ x 6 Q
3462
+2331 @ Today is Phil’s 9th birthday. How many days old is
he? (Do not account for leap years.)
@ + 3 =28
DAY 62
(1D) o8 9,889 (3) 909 74179
89 -2,797 x 17
24 *
+53 @ How many weeks in 63 days? -4 =6
DAY 63
1N 927 2> 477 1) $3.92 .(D 8) $33.60
C/ +791 ® -388 @ . 8
@ How many feet in 9 yards? @ + 5 = 18
DAY 64
(::) 0 + 6 + 8 + (::) $100.00 3.) 817 . 9 ) 2340
3+ 2+ 1+ - 23.89 ®x9 e '
9 + 7 = -
@ How many yards in 12 feet? 6> 17 - = 12

DAY 65




